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This one seems like a contradiction, but x = 0 is neither positive nor negative!


Right here is where there was going to be a theorem on bounds on real roots question.
We'll spend minimal time on it. Not a time-saver, typically, on a time-controlled test.

All I want to say about it is

If you're checking a positive number out and the bottom row of the synthetic division is all
positive numbers, you don't have to look for any bigger, positive zeros (to the right); and,
if you're checking a negative number out and the bottom row of the synthetic division is
alternating signs, you don't have to look for anything more negative (nothing to the left).
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Right here is where there was going to be a theorem on bounds on real roots question.  We'll spend minimal time on it.  Not a time-saver, typically, on a time-controlled test.
All I want to say about it is 
If you're checking a positive number out and the bottom row of the synthetic division is all positive numbers, you don't have to look for any bigger, positive zeros (to the right);  and,
if you're checking a negative number out and the bottom row of the synthetic division is alternating signs, you don't have to look for anything more negative (nothing to the left).
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Notice that the nonreal zeros have no expression in the graph. The graph is
real. The nonreal zeros? Well, they ain't!
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Notice that the nonreal zeros have no expression in the graph.  The graph is real.  The nonreal zeros?  Well, they ain't!
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Notice that ONLY THE REAL ZEROS
CORRESPOND TO X-INTERCEPTS IN
THIS REAL GRAPH. NON-REAL ZEROS
ARE OF THEORETICAL INTEREST IN
ALGEBRA AND YOU'LL SEE THEM AGAIN
IN DIFFERENTIAL EQUATIONS AND
UPPER DIVISION APPLIED MATH.
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Notice that ONLY THE REAL ZEROS CORRESPOND TO X-INTERCEPTS IN THIS REAL GRAPH.  NON-REAL ZEROS ARE OF THEORETICAL INTEREST IN ALGEBRA AND YOU'LL SEE THEM AGAIN IN DIFFERENTIAL EQUATIONS AND UPPER DIVISION APPLIED MATH.
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